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1.  Write a program that will store “4#6SUUDI,A” into memory locations 
starting from DS:001AH  and then convert only the capital-letters into small-letters and re-store them in original memory location.
Note that ASCII code of: 0 is 30, a is 61, and A is 41. 
         
TITLE "Question 1"

.MODEL Small

.STACK   32H

.DATA


            _________________________________________________
.CODE

 

MOV AX, @DATA



MOV DS,  AX
                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       ____________________________________________________________
                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

                       _____________________________________________________________

2. After the following instructions are executed what will be the values of CX, DX, DI, VAL1, VAL2. Show the steps beside the instructions and put the answers in HEX 

         
.DATA
Org 0009H

VAL1 DW 046AH

VAL2 DW 3FD9H

.CODE




LEA DI, VAL1



MOV CX, [DI]



ADD DI, 2H



MOV DX, [DI]



XCHG DX, VAL1



AND DX, 0FF00H

AGAIN:DEC WORD PTR [DI]



DEC DX



CMP DX, 03FEH



LOOPZ AGAIN

DEC WORD PTR [0009H]

Answer:

CX = (


H)

DX = (


H)

DI = (


H)

VAL2 = (

H)

VAL1 = (                         H)

3.  If AX=100H, CX=202H, DX=0270H, DS=1000H, ES=5000H,  SS=8000H, SI=300H, DI=506H, SP=10H, BP=200H,  and the given memory locations store  the following contents, 11506H ( 81H , 10506 H (  07H , 51506 H ( 45H ,
           81506 H (  13H , 81350 H (  37H , 81530 H (  43H , 80406 H ( 9AH ,

           81406 H ( 6AH ,   compute the required values of the registers after executing each line of the program. (assume all other memory locations ( 00H)



XCHG  AX,BP  
;



SAR      AX,CL     
;
                     AX =__________



XOR     AL,[1506H]
;
                     AX =__________


MUL
 Byte PTR [BP][SI]+6H    ;
               AX =__________

       PUSH  AX
;
              SP =__________

                                                Addressing Mode used in line 4 = ____________________
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          MOV AX, 4C00H


	          INT 21H


         END














